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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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XX6

BriE) | EBIATK (7)) | EBE (EH/HK) | XK R

01:35 59 20.0 |Z=| 1BRige01:35 KEFEHF (GRABERSE)
02:35 59 20.0 |Z=| 1Bi8e02:35 KREEF (KAHERE)
03:35 59 20.0 FA| FnHB@03:35 REFEF (RFEERES)
06:20 59 20.0 1|  FHA@06:20 REFEF (RAEZRER)
09:00 59 20.0 FA| FHA@09:00 KENFEF (ARFIEEES)
10:30 59 20.0 f5| FHA@10:30 REFEF (RKFAEZRE)
11:35 59 20.0 fg| Fiffe11:35 RHMEF (KREAEESE)
12:35 59 20.0 B5| FiHfe12:35 RHEF (REAERSE)
13:40 59 20.0 f5| FiHA013:40 REFEF (KAEZREE)
14:55 59 20.0 Bg| Fiffe14:55 RHMEF (REEEHE)
21t[590.0 (100%) 200.0 323 KEC: 1305.0, PH: 6.9

unusual large postFgEt from yesterday (65), set to 60.0 ml.
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XX6

BYiE) | GEBERTIC (B)) | EBE (EAH/#K) | XS SRR

05:50 170 20.0 FH| {FRi%@05:50 KRENFZF (KRATREES)
06:45 170 20.0 B5| 1Ri%@06:45 RHIEF (KAEZRE)
08:00 170 20.0 f5| {Ri%@08:00 REFEF (KFEZRE)
09:20 170 20.0 f5| 1Ri%@09:20 RHAFEF (RAEZRER)
10:20 170 20.0 fe| 1RiZ@10:20 KREFEF (RA1ERER)
11:10 170 20.0 f5| 1Rig011:10 REFEF (RAEZRE)
12:00 170 20.0 f5| 1Rig012:00 REFEF (RAEZREE)
12:50 170 20.0 fg| 1Ri%@12:50 RHEF (KREAERSE)
13:40 170 20.0 f5| 1Ri%013:40 REIEF (KAEZRE)
14:30 170 20.0 f5| 1Rig014:30 RHAEF (RAEZREE)
15:30 170 20.0 fg| 1Ri%@15:30 REEF (KREAERSE)
23t 1870.0 (113%) 220.0 3 H&KEC: 1305.0, PH: 6.9

EORGEB AT R IR IE AR (170 vs 59.0))

2RI\ PRIEBES8. 0 ml.
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XX6_0, Day=199.0 (2025-05-13)
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XX6

BYiE) | GEBRTK () | Bl (EAH/#R) | XS SRR

05:50 170 20.0 FA| 1BRi%@05:50 KREIF2F (REERES)
06:40 170 20.0 FH| {FRi%@06:40 KREIZF (KRATREES)
07:30 170 20.0 FA| 1BRi%@07:30 KRHFIEF (KAEZFHF)
08:35 170 20.0 FA| 1BRi%@08:35 KEIF2F (RFERES)
09:55 170 20.0 FH| {FRi%@09:55 KRENIZF (KRAATREES)
10:50 170 20.0 FA| 1Bi%@10:50 KHFEF (KAEZFESF)
11:35 170 20.0 FA| {RRi%@11:35 KREIEF (RKAEES)
12:25 170 20.0 FR| {Ri%@12:25 KREIEF (RARESS)
13:15 170 20.0 fe| 1RiZ@13:15 KREFEF (RAERSE)
14:05 170 20.0 f5| 1Ri%014:05 REFEF (KAERE)
14:50 170 20.0 f5| 1Rig014:50 RAZEF (RAEZRERE)
15:50 170 20.0 fg| {Ri%@15:50 RHEF (REAERE)
17:05 170 20.0 iE| {Ri%e17:05 REIEF (REERE)
2it]2210.0 (13%%) 260.0 3FFHKEC: 1305.0, PH: 6.9

EIRGEBBHCRIZR BN (172 vs 59.0))

2RI\ PRIEBES8. 0 ml.
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XX6_0, Day=198.0 (2025-05-12)
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Warning: lcol ["WC1',| "WC2'] missing
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XX6

BfiE) | EBIETK (D) | E=E (EH/K) | XK EFE

06:15 171 20.0 B5| 1Ri%@06:15 REFEF (RAEZRER)
07:05 171 20.0 B5| {Ri%@07:05 RHEIEF (KFAEZERE)
08:20 171 20.0 f5| {Ri%@08:20 KREFEF (KFEZRE)
09:20 171 20.0 B5| 1Ri%@09:20 RHAFEF (KREAEZREE)
10:10 171 20.0 fg| 1Ri%@10:10 RHEF (KREAEEE)
11:00 171 20.0 RS {Ri&e11:00 KHIEF CRBHERE)
11:50 171 20.0 B {Riget11:50 KEIEF CGRAFEER)
12:35 171 20.0 fe| 1Ri@12:35 KREFEF (RAERSE)
13:20 171 20.0 iE| {Ri%e13:20 KRHIEF (REERSE)
14:10 171 20.0 f5| 1Rig014:10 RHEF (RAEZRE)
15:00 171 20.0 BE| 1RiZ@15:00 KENFEF (RAEREE)
16:10 171 20.0 fe| 1RiZ@16:10 KREFEF (RAERSR)
Bit] 2052.0 (12%) 240.0 3EHKEC: 1305.0, PH: 6.9

EIREBREHCRIRAREIZI (104 vs 61.0))

BRIASSPRERE34. 0 ml.
RE R i3t B RECHIIR R K.
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XX6_0, Day=197.0 (2025-05-11)
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Warning: lcol ["WC1',| "WC2'] missing
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